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1.
Solve the linear system of equations
X - 3y =-6
5x + 3y = 42
Oa)

Unique solution:

(6.4)

OBs)

Unique solutjon:

(&-1)

Oq)
Infinitely many solutions:
(s+7)
OD) No solution
2.
Solve the linear system of equations
x -6y = 7
5x + 2y = 10
On)

Unigue solution;
(83)
Ops)

Unique solution:
3715
177 34

Oo

Infinitely many solutions:

(2 62+ 1)
OD) No solution

Soive the linear system of equations




Assessment Page 2 of 7
x+ 16y=9
%x+ 4y=38
On)

Unique solution:
(5:4)
OBs)
Unique solution:
(2-4)
0]
Infinitely many solutions:

(caes)
OD) No solution

Solve the linear system of equations
x-2yp= 7
9 - 6y = 14
Oa)
Unigue solution:
(6-4)
OB)
Unique solution:
(85)
Oc)
Infinitely many solutions:

(r&+5)
OD) No solution

Determine whether the system of linear equations has one and only one solution, infinitely many solutions,
or no solution. Find all solutions whenever they exist.

x+3y=9
x- y=7

On)
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one and only one solution

(3.2
Os)

one and only ane solution

(3.9
Oc)

one and only one solution

4.2
Opb)

Infinitely many solutions

(9- 3k, k)
OE) no soiution

Determine whether the system of linear equations has one and only one solution, infinitely many solutions,
or no solution. Find all solutions whenever they exist. ;

- S=10

4x - Wy = 20

OA) one and only one solution (0:=2)
Os)

one and only one solution

(5,0)
Qo)

one and only one solution
15

(%)

Op)

infinitely many solutions

[-g-k+ S,k]

OE) no solution

Solve the linear system of equations

7 5
353¥=2

1x+%y=8

4
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10.

On)
Unigue solution:
(24
Og)
Unique solution:
(+2)
Qo
Infinitely many soiutions:;

(o)
(OD) No solution

Solve the linear system of equations
9x - Iy = 63
45z - 35y 18
Oan)
Unigue solution:
(5-4)
Ops)
Unlque solution:
(3.4)
Oo
Infinitely many solutions:

(ae)
OD) No solution
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A system composed of two linear equations must have at least one solution If the straight lines represented

by these equations are nonparallel.
OA) false
OB) true

Solve the linear system of equations

6x - Ty = 20
3x + 5y = -7
Oa)

Unigue solution:
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(1-2)

- OB)
Unigue solution:
(59
Qo)
Infinitely many solutions:
(4 4+ 5)
OD) No solution

11,
Indicate whether the matrix is in row-reduced form.

OA) The matrix Is not in row-reduced form.
OB) The matrix Is in row-reduced form.

12.
Indicate whether the matrix Is in row-reduced form,

1 0 1§19
0 1 0|8
0 0 -1]6

QO A) The matrix Is In row-reduced form.
OB) The matrix is not in row-reduced form.

3.
Indicate whether the matrix Is in row-reduced form.

1 0|-12
01 2
00 0

OA) The matrix is not in row-reduced form.
OB) The matrix is in row-reduced form.

4.
Indicate whether the matrix Is In row-reduced form.

1 0 0]-1
0 1 0}-
60 0 2

[

-3
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(OA) The matrix is in row-reduced form.
(O B) The matrix is not in row-reduced form.

15.
Indicate whether the matrix is in row-reduced form.
1 0 0O 9
g0 1 0 6
0 0 O 2
g 0 1 8 ]

OA) The matrix is in row-reduced form.
(O B) The matrix is not in row-reduced form.

16.
Solve the system of linear equations using the Gauss-Jordan elimination method.

x— 2y= 8
3x+ 4y= 4
Oa)(o,2)
OB)(8,2)
Q) (4,-6)

Ob)(-2,4)
OE) (4,-2)

17.
Solve the system of linear equations using the Gauss-Jordan elimination method.

3x+2y=14
x-4y=-14

o (2-14)
o (4,-14)
Qo) (2' 4)
o 10
55 (4,-14)

18.
Solve the system of linear equations using the Gauss-Jordan elimination method.

Tx+ S5y= 32
-3x+ y= -20

On)(7,-3)
Os)(6,-2)
00 (2,-6)
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ODp)(-6,2)
QE) (-7,-2)

19.
Soive the system of linear equations using the Gauss-Jordan elimination method.

3x +3y+ z= 22
X + z= 6
4y - 3z= 8
OA) (4, -14,-8)
OB)(-19,4,8)
Q) (8,-14,-4)

OD)(14,4,8)
OE) (14, -4,-8)

20.
Solve the system of linear equations, using the Gauss-Jordan elimination method.

2x+5y-2z= 14
Sx—-6y+2z= 0
4x- y+3z=-7

OA)x=2,y=6,z=5
QB)x=2,y=5,z=-5
OC)X-"-'Z,J’:U,Z:S
Op)*¥=2y=0,z=-3
OE)Z=S,J’=U.Z="2




